EARAZROREIERT — 2 N—XBISY —F 2014578128 (+) 7E1AE3H

Pl 3 — 64 TR 3% ‘ %] & ‘ (] — | &4 (&) 13000 F4E
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o o s e BERD 125, -1-1- . — THERE (£8)
M, T xTFa— 3 558.0 1(2_5)6 1-1-1-1 | 40.0 1 ;1:;10) %ﬁ%su i1
R:aZ/F¥LLy b BE1-VIHIT HFAL 8y K
3 | RBEZ 1:26.1 5-55-3 | 39.9| — 2 425 | HHEE (£H)
ol 3|7/ F— 56.0 2 1/2) (o) | LHFIEL
LiANRTNGZR B:TYL XTI ik se)
N “ = EEIFE :26. —-0-2- . — HEXE (£8)
317l 7| PEITYRF i3 a5 1(236)7 2-2-2-2 | 40.8 3 <4+626) Em%& ®
I TFE2T1 B AR v LT =LK MHEB RS
43 | HHARIK 1:27.0 3-3-3-4 |40.9| — 4 415 |MRBE (£E)
4 WY 6 J1)/37%k 54.3 (1 1/2) (-4) %\2’5/\51
R:T59 84K BT 959 Y F B 4
i 757 ft 3 | WO 1:29.0 7-7-7-6 | 42.1| — 6 448 | REM (1£E)
5/5|5 TA—=TTF 54.0 (21 4) (+6) | BEIE—
LY/ Ny THY B:RFHRARKRII [afintie]
. N . IASE= .29 44 2| — HETE (£8)
. B # 3 | 4n e | eees w2 -5 | e | Z8ZE i
RVWN—F v —L BAhTLAT A A&
4 3 | AERE—ER 1:29.9 6-6-6-7 |43.3| — 7 450 | WIEZEA (ER)
71111 | TYNRZTA 56.0 21/2) 1) | R .
R:FFHATFFHd BHIILTLAR i &R
® I —F—EBIERL
13=7r= 4,7,6,2,3,1,5
2a|=7r= 4,7,6,2,3,1,5
Jol=5r= 4,7,6,2,3,1,5
43—F— 4,7,3,6,2,5,1
[ N3
BB 4 170 714K 3-4 100H B = 3-4 170H 3EHE 3-4-7 180M
8 B 4 110 4-7 130M B H 4-3 310 K31 4-3-7 390M
3 120/ 3-7 190M

ABICOVWTRDTEEERROODE. TR LIV,




